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CDNA SCJEHFRUETRAE TL(CDNA XURE R 2 AR 1% %)

1354z

MRAEHAAANT cDNA [P HLPKE AR, BEAEABE 3 LU IESR:,

Hll: insert/vector=1/3 incert/vector=1/1 insert/vector=3/1

LU MR RN -

ddH20 xul

T4 ligase 10x buffer 1ul

PBK(E/X)vector(20ng/ul)  1ul

cDNA (R J8 R 4 LA T )

T4 DNA ligase(3U/ul) 1ul

Total 10ul

14°C, HEHEH

2. fa: (PCR J732)

T PCR #MRER, BT UKL, LU FRRMKKINA:
R insert vector PHYEXRE BHMEXTIL (H20)
FoARL - 1 1 1 1 1

10xbuffer 2.5 25 25 2.5 2.5
Mgcl2(25mM) 1.8 1.8 18 1.8 1.8

DNTP(2.5mM) 1 1 1 1 1
T3 514 (10pmol) 1 1 1 1 1
T7 514 (10pmo) 1 1 1 1 1
Taq i 04 04 04 04 0.4
ddH20 16.3 163 163 16.3 16.3
total 25ul 25ul  25ul  25ul 25ul

S NREFE 94°C 45k
94C  20F)
536°C 20%F 35 MEH
72°C 4 5y%p
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72°C 10 Sk

4C 24 /hI

fif PCR [Nk N 4°CJ, BUR PCR #EEE, I 7ulPCR 4NN 3ul {55 22 5
7K, IR 1Kb DNA ladder

NS R, B insert. vector. MIME=ANREMER T A DES WA OK
2945 200bp Zid7) Ab, T HARNTTE o BHEEAT TG . LF ISR =Y N AE 500
2 4, 5Kb K/NZ N IE R 24T5 MY smear



